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(iv)

(v)

(vi)

(vii)

aqut go7 7T & | 3 F7-77 § FT 27 97 & | F97-97 qier @vel g
fayifsa & 1

GUS 37 § Y97 G&IT 1 -5 TF Y% J97 U 37 F1 & | Y% J97 F I
20 vsg] @ 371 757 &7 05T |

GU8 § H Y97 &I 6 - 10 7% Iod% 97 g 3HH #71 & | Icdh J97 & I
40 752 G 37feres 787 &1 =IeT |

GUE T § J97 &7 11 - 16 T JI% I3 AR 3HH &1 & | Id% 97 &7 I
100 3551 @ 37ferw 787 g1 =15 |

GUE 7 § I3 G&IT 17 - 21 T I §97 Gidl 37h] &7 & | Icdeh 97 & T
150 7531 @ 3718 757 1 T30 |

G 7 § ¥o7 gEgr 21 HARE W OEGIRT 94 & | $E9F IR I
FT-GiEdT 4 1e7iEe |

GUS T § Jo7 &7 22 — 27 T I9%F ¥ D: bl FT & | I9F I3 HT I

150 155 @ 3718 757 &7 T3T |

General Instructions :

)

(it)

(i11)

(iv)

(v)

(vi)

(vii)

All questions are compulsory. This questions paper has 27 questions in
all. There are five sections in this question paper.

Section A contains Questions number 1-5 of one mark each. The
answers to these questions should not exceed 20 words each.

Section B contains Questions number 6 - 10 of two marks each. The
answers to these questions should not exceed 40 words each.

Section C contains Questions number 11- 16 of four marks each. The
answers to these questions should not exceed 100 words each.

Section D contains Questions number 17 - 21 of five marks each. The
answers to these questions should not exceed 150 words each.

In Section D, Question number 21 is a map-based question. Write its
answer in your answer-book.

Section E contains Questions number 22 - 27 of six marks each. The
answers to these questions should not exceed 150 words each.
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TUg A
SECTION A
1.  OFaTSRI i 1@ & e e e areft forelt weh STaiisdt axen &1 9m
fafiay | 1
e
USRI qem STl o 9 Tdd ¢ o THe Wel foREl U gram s AN
ISR T | 1

Name any one international organisation that campaigns for the

protection of human rights.
OR

Highlight any one security challenge faced by the newly independent
countries of Asia and Africa.

2. ‘T’ S1ee 1 379 TS HIfT | 1
3reraT
‘aTeiet AT % GEF 3R i T HINT | 1
Explain the term ‘Hegemony’.

OR
Explain the main objective of the ‘Marshall Plan’.

3. fTr=fafea # @ s sem ey e & ded o gt 787 2 7 1
() 38 ACIeH 4 79 Taad < ol el F STeT T T aliehl G |
(i)  WRA I Te-FRuerar 6t Hifq 7 @ ThreEs off 3R T & 3T |
(iii) WA i Te-Frue Aifd 7 wra & f&ai &1 argq § ggrEa #i
(iv) @ifoad 99 o a1 #3f 9f9 W gEaieR ek e-Fue AGIad i weed
A o fofu wra i wwrEn 6 T |

Which one of the following statements is ‘mot correct’ about the
‘Non-aligned Movement’ ?

) It suggested to the newly independent countries ways to stay out of
alliances.

(i1))  India’s policy of non-alignment was neither negative nor passive.
(iii) The non-aligned posture of India served its interests.

(iv) India was praised for signing the treaty of friendship with USSR to
strengthen NAM.
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AT Mg W ATy Yoo & Fmivr &, YRa & 9 TS W U, Y9E o6
HodToh ST | 1
Evaluate the impact of the formation of Andhra Pradesh on linguistic
lines on the other States of India.

T TR W OPAR o fafid el ol T TR W Th §9 oW & o
1T HH T HIh bl ISR hIFT | 1

Highlight the factor which compelled the various fish workers’
organisations at the local level to come together on a national level

platform.

Qe T

SECTION B

AT o YAl Y WA T IAUAT qaeal HTead H o Q. Gifeed 99 5 &=
fopam 2 2

e
Tiferd 99 3R GYh TSI AT 61 To=memeTi i Th-uh e &1 Seo@
HIFTT | 1+1=2

What did the Soviet Union do to ensure that the eastern half of Europe
remained within its sphere of influence ?

OR
Mention one characteristic each of the ideologies of the USSR and the
USA.

$I3 & BRI IR HIY 2 39 1969 H gT HIE 41l o fawem & fog

ITERT A 7 | 1x2=2
SrqaT

1975 H ST 7Y AYTAehTad § WA hl ST g0 Hi@ T his @ 918 39TR

i | 1x2=2

Highlight any two reasons that you think are responsible for the split in
the Congress Party in 1969.

OR
Highlight any two lessons learnt by the people of India from the
Emergency imposed in 1975.



» B
=100

IR afgersti o T axaredt # aue gfaffees ¢ foam mn 8, wig o=
qoT Usd TR <t faemRemett & 7@ feam man | erueh fomm #, 3@ I werar &+
S q&T HROT T B 2 2
Equal representation to women has been granted in local level

institutions in India but not in state and national legislatures. In your
opinion, what is the main reason behind this failure ?

9. WY AT WY ‘B’ Y fgu MU qei @ refqul fem i éx4:2
&Yy A’ &Yy ‘B’
(a) ToueR! oTIgIeH (i) A1 T ATIHR
(b) gfora derd (ii) MY I
(c) drei-faRieft st (Gii)  STaTd Hewrd o foaeg oy

(d) AV fhEM TR WA MR (iv)  Wehideh SETEAl W €A
TG T IUHR

Match the facts given in Column ‘A’ with those in Column ‘B’ in a

meaningful manner.

Column ‘A’ Column ‘B’
(a)  Chipko Movement (i)  Right to Information
(b)  Dalit Panthers (ii)) Andhra Pradesh
(c) Anti-Arrack Movement (iii) Fight against discrimination on

the basis of caste

(d) Movement of Mazdoor (iv) Right of Local Communities on

Kisan Shakti Sangathan natural resources

10. 3G 9WRA Te-Fuegar shi ifq =1 TR &1 grar, af fava TeHifa | 1 gfed
BHT BT ? 2
FAYaT
qRA 4 1968 1 TCHTY] AYAR A (TH. .. ) T gEAer i ¥ Fi $hR foha1 2 2

What would have happened to the world politics if India had not
propagated the policy of non-alignment ?
OR

Why did India refuse to sign the Nuclear Non-Proliferation Treaty (NPT)
of 1968 ?
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T us |
SECTION C

11. 9 i fogw Aifd s9H @ AL HE # 9 & JoH J9H T, SO 18

1 yftrpt w1 FuH HIT | 4
AT

TAAAT o UYETq WG hi fager ifd =t gvifod s aret fopegl 91 Siehl 1 Ui

ai;”?‘m: | Ix4=4

Describe the role of the first Prime Minister of India, Jawaharlal Nehru,
in formulating and implementing the foreign policy of India.

OR

Describe any four factors that influenced the foreign policy of India after
independence.

12. 9 g % Tv g W@ 9N ged dfvas sgamal w1 favawer Hifs S
GH TS o 1A H GUR A <hl TagTehdl ol S0 T | Ixd=4

Analyse the four major global changes that have taken place after the
Cold War leading to the necessity of reforms to make the U.N. work

better.
13. gl =W IcEwn i TgREr ¥, YIeRU & HEA! W URd % U hl T
SHifST | Ixd=4

With the help of any four examples, explain India’s stand on
environmental issues.

14, JUTT T 1 Tk GUTFSCA & TS S aTelt gEehl fohedl @R ke
R iU | I1x4=4
Jrra
1971 § ST <hl Tqadl o forg Sarerll uftfeufaat i samen Shifsw | 4

Explain any four strengths of the European Union that make it an
influential regional organisation.

OR

Explain the circumstances responsible for the liberation of Bangladesh in
1971.
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15. AT STITRIET TE0 G WA shi TSHITT H 3TGT 3hi 715 {HeRT ST TR
IR | 4

Assess the role of Loknayak Jayaprakash Narayan in Indian politics.

16. 1959 H TfUd “Toaz urdl’ <kl fommeumm i fordl = fomiwarst 1 vl
i | Ixd=4

HAAT

1920 € TRt 1952 1 §U YRA & YAH W A6 deoh HEY IIET 3% sfeam
Toramama § a1 afEdHt <1 9uH HifSg | 4
Describe any four features of the ideology of “Swatantra Party” founded

in 1959.
OR

Describe the changes that took place in the ideology of the Communist
Party of India from 1920 to the first general elections in India in 1952.

LG LR
SECTION D

17. = fGu MU saqm w1 eYEe AeE hife R fefafed T 6 3@
fafem
SR ST& B0 Gl & 9R H 9gd AT GAd & d guR
AT e ohl UNUNes Yl USTE G <kl ¥wen § g g,
et geg 8= gAfRal o @R 9 ¢ | &I 1 9 THR o TR I
HId hIE GO ¥ BT 2, S 8- g h uHehl ot HIAT, T
3 & IrEEdr & heald Yol & foTe waaw et o 8 |

(i) TS e 9 0 0 B ?
(i) G hl I RO i SATEAT hITT, |
(i) Torel QO S0 @ gg o @A I I o 8d P13 ol alieh gAY | 1+242=5

AT
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f= fou U st w1 eayde TerEd e e freffed wEl % S
faf -

(1)
(ii)

(iii)

a1 T S foar geen ufmg Y G @ e 7

e aiwg 1 9o e fOR Wl 7 SEfh 9gw Usg 99 hl W
YT H Ael sl T@I §F ¢ 8 | YA I AT & b 399 gaw
ftwg & whifificayees afe & a1 g8 2 | wia %1 7 2 6 aftag
F1 fIEar w1 W 98 sorer gfaffiges gnft ok 38 fava-fowett o
SaTeT HeH e |

eI 9fteg 1 TEET i TR’ =1 hat T 2

T aftwg 61 foeR w3 s iafficayes =fer & %9 g

TS © ?

e uftwg # fosrrasfiar S 1 4fteht & IR § WRA & gfeesm

I TS T |

1+2+2=5

Read the passage given below carefully and answer the following

questions :

(i)
(i1)

(iii)

Most of the time, when we read and hear about
security we are talking about traditional, national security
conceptions of security related to dangers from military threats.
The source of this type of danger to security is another country
which, by threatening military action endangers the core values

of sovereignty, independence and territorial integrity.
What is meant by national security ?
Explain the traditional notion of security.

Suggest any two methods to respond to the threat of war

from another country.

OR



Read the passage given below carefully and answer the following
questions :

One of India’s major concerns has been the composition
of the Security Council, which has remained largely static while
the UN General Assembly membership has expanded
considerably. India considers that this has harmed the
representative character of the Security Council. It also argues
that an expanded Council, with more representation, will enjoy
greater support in the world community.

) Why has the composition of the Security Council been said to
have remained ‘static’ ?

(ii)) How has the static composition of the Security Council
harmed its representative character ?

(iii) Explain India’s view about the role of the developing countries
in the Security Council.

18. 9 fou MU srad@wr w1 eamyEs stewEA Hifve it Fefafea e % 3@
et .
TOTS ShedATul sl GUHT STIET i A & I5¢ fohaT T | T
fmadt & @ren | SAfhat ot T | Ug Y | 7ey o, THTS % FIN
T 3T T..... | 39eh 3dieh, Fsfietor 3 3t Afees fommarst 1 5=
feam |

()  EhHl fEma 9w iy B 2
(i) G Tl A wmfea 3 e ol T Sk ST hE eher feam 2

(i) o 19 Fsfiertor it snifde fifa w1 Tmed wwa g =1 fawy 2 e
IT % 94§ HIE G SUYH doh [IRAT | 1+2+2=5
e
T for U @ 1 s TR iV AR EfIREd T % W
fafau
Te-fue 2w 3fid Jg F SF UES HIRYAr H 9T ¥ W TR
9 | Te-Fruer tidier § wfirer stfiemiw 2w W ‘Steq fopfa 2w W
Tl fire o | 37 2 % Wme e AT snfdes w9 & SR surer faw
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oD
i
T qAT AT ST BT TS H IS h oY | TI-FIdT <0 kT AE!
% Tofgrs & ot srifeier fohre AEwaqul o | ¥R fiehre foohrd o &g oW
T AT | AT T8 T8 Fehal |
() 3 Ig A o GRH Te-FRU e (NAM) & fohegl g Heemush <9
=& W fafay |
(i) 79 faehfea oIl < @I ! TS & ITRA o T 15 g1 iish Gy |

(ii) “feeprss faemm®’ <h1 s7aemon =i Tase il | 142+2=5

Read the passage given below carefully and answer the following

questions :

The old system of social welfare was systematically
destroyed. The withdrawal of government subsidies pushed
large sections of the people into poverty. The middle classes
were pushed to the periphery of society..... Besides,

privatization led to more disparities.
) What is meant by government subsidy ?

(ii)) How did the withdrawal of government subsidy lead the

people into poverty ?

(iii) Do you support or oppose the policy of privatisation ? Support

your answer with any two suitable arguments.

OR

Read the passage given below carefully and answer the following
questions :

The non-aligned countries were more than merely
mediators during the Cold War. The challenge for most of the

non-aligned countries — a majority of them were categorised as

10



the Least Developed Countries (LDCs) — was to be more
developed economically and to lift their people out of poverty.
Economic development was also vital for the independence of
the new countries. Without sustained development, a country
could not be truly free.

) Name any two founder countries of Non-Aligned Movement
(NAM) during the Cold War period.

(i1)  Suggest any two methods to lift the people of the Least

Developed Countries out of poverty.

(iii) Explain the concept of ‘sustained development’.

19. 9 fiu T w7 w1 wHgds rewEE hifve qen Fefafad s %I
%fF@Q:

S
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() 39 & § g T 9 (TER) | wmea w1 ufaffica s R,
3GehT qU W fafaw |

(i) ST Ty 1 gEEE e S I 6 sfide & Aqcd o THe 3T
et gfar = T HIWT |

(Gii) T Toy h 39 e 3 Sicde & oA fawE i hE ywifad

fomam 2 1+2+2=5

Study the cartoon given below carefully and answer the following

questions :

S

597213 17



Note :

20.

) Write the full name of the organisation represented by the tiger in

this cartoon.

(i1)  Explain the dilemma of Sri Lankan leadership in trying to resolve
this ethnic conflict.

(iii) How did this ethnic problem affect the economic growth of
Sri Lanka ?

HETIcTiEd o7 acT gieanaa ahenaan & g, Jv7 &1 19 & T W3

The following questions are for the Visually Impaired Candidates only,
in lieu of Question No. 19 :

(19.1)  #ficiet % < ST TEl & W fafaw |

(19.2)  *ficiehT o ST TN I T HINT |

(19.3) ST Tod i 39 TS 4 Sfideht & oY fos Hi hE gurfad
fepar 2 1+2+2=5

(19.1) Name the two ethnic groups of Sri Lanka.

(19.2) Explain the ethnic conflict of Sri Lanka.

(19.3) How did this ethnic problem affect the economic growth of Sri

Lanka.
H= U MU STaul H eAHYEe eI hitwg R e T 6 IW

fafae

39 TehI IgGA1d ITHA YOIl <1 I Y& §37T ... | B €HS
H EHIM g TSHITeh Call o FAHY @ & | Tg 1989 &g fohelt
Hl 1 ! 2014 T, WA THT H TI TgAA T 21 g1 | T0Y g
H TEHYA THAT 1 T IE g3 |

(1) 2014 Arh a9 FAET H fopd TSHITaeh G ol T IgHA T gl ?
(i) 39 fo=R & MSHE TRl Y g I THETd H-H § 2
(i) WA I FgEATT Jorreht < fohegi g1 Tuni o1 fergerwor iRy | 1+2+42=5
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21.

Read the passage given below carefully and answer the following
questions :

Thus began an era of multi-party system ... .Our
Parliament always had representatives from several political
parties. But after 1989, no single party secured a clear majority
of seats in Lok Sabha till 2014. This development initiated an

era of coalition governments at the Centre.
1) Which political party won a clear majority in the Lok Sabha
elections in 2014 ?
(ii1) In your opinion, what are the two main problems of coalition
governments ?
(iii) Analyse any two merits of the multi-party system in India.

YRA & U T {oHfdeh @I-AFEE (T8 16 W), H 99 TsAl H
@, ®, ©,©® do ® g gutan w3 | AN & TS THEH F AGR W
TS 1 9ga iV 3R A9l IT-GfEdesT O $eh @@l ™, T i T8
AR shl shH TE&AT qAT AraI(-od &R, i & T8 qTierehl o &9 4 feifan :

TN <l T8 AR
1 -G

(1)
(ii)
(iii)
(iv)
)

Gra(-ed AT | TSI 1 911

(i) 98 TSy d wRdE 99 8 fae 1 forig foman |

(i) 98 U9 N 1972 H 319 ¥ e L == T |

(i) 9% TSI @l YA SR 9E 4 1957 B 9 ThHR &7 |

(iv) 1966 T ST 71 ST |

(v) I8 ST A S AW % A SA FERN HAGIOH H JST g3 | Ix65=5

14



In the given political outline map of India (on page 16), five States have
been marked as @), ®B), ©), © and (E). Identify them on the basis of the
information given below and write their correct names in your
answer-book with the respective serial number of the information used

and the concerned alphabet as per the following format :

Sr. no. of the Concerned | Name of the
information used Alphabet State

6)

(i1)

(iii)

(iv)

v)

1) The State that resisted its merger with the Union of India.
(i1))  The State which was carved out of Assam in 1972.

(iii)) The State where the Communist Party of India formed its
Government in 1957.

(iv)  The State formed in 1966.

(v)  The State related to Dairy Cooperative Movement under the name

‘Amul’.
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2
Fig:  FAECIRET 97 #ad FIEETaa qherdal & g, 397 e 21 & €9 W
Note : ihe following questions are for the Visually Impaired Candidates only,
in lieu of Question No. 21 :

(21.1) TorH TS H ‘S A % HATd SH TER HAGIeH TE §I AT ?

(21.2) 1966 H ST MY TRl Th TS 1 AW AT |

(21.3)  BRA If=d & foh 1 TSAT 1 HTTorR <ATH 53T 2

(21.4) 38 TSI %1 9W fARaw S&F 1957 § WRA™ wgRe 9iél 4 o1

HTHT ST |
(21.5) AT o 9T 9URd H fopad <3t wWaTe 9 2 I1x5=5

(21.1) In which State was the Dairy Cooperative Movement under the
name ‘Amul’ started ?

(21.2) Name any one State which was created in 1966.

(21.3)  Which two States were benefitted the most by the Green
Revolution ?

(21.4) Name the State where the Communist Party of India formed its
government in 1957.

(21.5)  How many Princely States were there in India at the time of
Independence ?

QU
SECTION E
22. Gifquq T 61 AR LA H GIR AW I MEwTh SH aTel foheal IR
FRE! T AU HIAT | Zéx4=6
e
3Nd g | w1 AU B 2 I8 he XN §IT 2 Ufved qon gl TSl & e
TAT 5k TROTHT T Hied U HIT | 2+1+3=6

Describe any four factors that necessitated reforms in most of the
institutions of the Soviet Union.

OR
What is meant by Cold War ? When did it start ? Describe briefly the
formation of Western and the Eastern alliances and its consequences.
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23. 1971 % TGl H HUF UE Hl AR Sd GaW aret fohegl IR SRl I

g Hifsre | Zéx4=6

HAAT

25 S, 1975 1 T I T TH aTel T ITTARTA hl =ATIETA 38U b
AT 9 R g fou Y Sfifaey w1 faweiyor e | 319 39 3iif=e | Fal
T TEHA & ? 4+2=6

Analyse any four factors that led the Congress Party to a spectacular win
in 1971 elections.

OR

Analyse the justification given by the Government of India for declaring
National Emergency on the night of 25t June, 1975. How far do you
agree with this justification ?

24, U THENST AR WM I IR H o TH D13 dF alih Famse foa amm

% ek Sfiad § hig T 7 & | 2x3=6
AT

A STTRIEATST o HHIER qT TSI 3RGSdT sl 91T T o hlg dHF alloh

RSEIE 2x3=6

Suggest any three methods of agitation, to highlight your problems and
demands, which do not disturb the routine life of the people.

OR

Suggest any three methods to accomodate the regional aspirations and
maintain national integration.

18



25. TG YNA H Alhdi=e TeHId o Jgal ) | faueh el & 3g9d e 3Iehi

ftreht 1 gui IR | 3+3=6
AYAT

e g=radffa A <t fohegl i foriwarsti w1 auiq hifT | 6! G0 &

TN 378 THENRAT ol Seoi@ oY hIfST | 3+3=6

Describe the emergence of opposition parties and the role played by them

during the first phase of democratic politics in free India.

OR

Describe any three features of the Second Five Year Plan. Also mention
the problems faced during its implementation.

26. 9 vt & &Y H WO g9 hl fergl =R fosiwarasti =1 wuse hifvw | 1§><4:6
areraT

9T B AThds <hl TATHT hl Ufsham <l sameat ki | 6

Explain any four features of the U.S. hegemony as hard power.
OR

Explain the process of establishing democracy in Nepal.

27. wATeRwr i 1@ % fore Al i arsht Wy srer-stem fed i gwren w6

fereeror iR | 6
arerat

YA W TR % USHIfdh, IM(UHh dAT HIEhideh TWET HI e

HIfT | 2x3=6

Analyse the concept of ‘Common but differentiated responsibilities’ of
States towards the protection of environment.
OR

Assess the political, economic and cultural effects of globalisation on
India.

591213, ?



